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Time : 3 Hours
Instructions :

(1)

(ii)

Each question Carrics one mark,
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questions and darken, with blue/blag

in the circle pertaining totlm*que i
separately supplied to you.
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mber concerned in@e OMR Answer Sheet,
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‘Choose the word which is the pearest i

-

aning to mﬁﬁbl‘dllﬂdﬂ'ﬁllﬂdri

Theyoung girl is wearing a drab pink d

(1) Colourful (2) Dull '(3} Vibrant (O ght

Choose the word which is the neares Ll |1 ng to thewm'dundérhnﬂi
The interview is candid and interesting.

(1) Frank (2) Realisti"; -, '(3) Emotional  (4) Disgusting

Choose the antonym ofthe under :] ed v '

Religion teaches us not to run after the transient pleasures of the world.
(1) Joyful n 4 S (2) Sinful
(3) Unnatural ¢ o " (4) Permanent

Choose the antonym of the underlined word.
The company supplied spurious drugs to the hospital.

(1) Fake | (2) Contraband

(3) Genuine (4) Pu:.fcrful

Choose the appropriate preposition.

Many peopledied  flusoon the storm.

(1) with,before  (2) by,after (3) from, by (4) of, after
Choose the appropriate preposition.

We have been planting trees theriverside adeshde:
(1) in, since (2) on, from (3) by, for @) AL of



10.

11.

12.

13.

14.

Choose the appropriate answer.

_ Larbum:lmxldeexlmgmsh
fire.

(1) an,the (2) a,the

Choose the appropriate answer.
At university I learnt how g 'f~ 1 e ‘good citizen.

(1) the,a 2) aa ) the (4) the,the
Choose the correct form of the rﬂpﬂﬂ 3f'-"ﬂ | -' ] ;& Y

The captain said to the soldiers, “Don’t £ e until I gi 2ive you r; signal”.

(1) The captain told the soldiers not tg fir -_:' t:I he gave then ihc.slgnal

(2) The captain ordered the soldiers notto fire un *' :4:n ﬂ::mthe 513"31
(3) The captain asked the soldiers nottofire unt " : *""-‘5

(4) The captain said to fire only after B

ST thine
.......

Choose the correct form of the reporte =E3*

“Haven't we met before?”, The man sé i'-_ ., ':;,
(1) Theman asked the girl if they ha H 1
(2) Theman questioned the girl if theyhave “:t met before.
(3) Theman asked the girl whether theyhad not met before.
(4) The girl asked the man if they had not met before.

\ V

Choose the correct form of the verb.

Murali his work yet. 3.

(1) hasn’t completed | ~ (2) hascompleted

(3) hadn’tcompleted .f (4) hadcompleted

Choose the correct form uf the verb.

The student __aprize fornarrating a story in this year’s contest.
(I) Awarding (2) Hasawarded

(3) Awards (4) Wasawarded

Choose the meaning of the underlined phrase.

Engineering graduates are dime a dozen today. I want to employ an arts graduate.

(1) Uncommon and worthy (2) Worthy but common
(3) Common and worthless (4) Veryrare

Choose the meaning of the underlined phrase.

Ravi just plays the devil’s advocate. Don’t take his opinion seriously.
(1) Debates for the sake of argument

(2) Debates for the sake of peaceful settlement

(3) Isanefficient advocate

(4) Isanadyenturous person

,4




- 16.

17.

24.

Choose the correct question tag fi v ” ;
The scuba divers need air _ tag < - “B:ﬁm?ﬂh 1
(1) dothey (2) don’tthey 3) needth@y
Choose the correct question tag for th o
AL g 10r the . S A
He has been to the Andamanst?g ing statement.
g el (2) washe S (3) isnthe

What dn?s the sentence imply? & :

I am afraid, you will have to wait for some more time. B b

g; expressing inability . (2) € ing fea r
3)  expressing shock ing nervousnes '

(4) ﬂpr&&@ﬂg%w

What does the sentence imply? ¥

Drive slowly. U-tum ahead. i |

(1) order (2) request (3) np@ﬁ' (4 caution

Choose the correct passive form of the sentence.

We must take care of all the living species on the earth.

(1) Allthe living species on the Earth are taken care of by us.

(2) Allthe living species on the Earth must be taken care of by us.

(3) Alltheliving species on the Earth hgﬁibeen taken care of by us.
(4) All the living species on the Earth wi!l be taken care of by us.

Choose the correct passive form of the sentence.

Rain disrupted the last day’s play between India and Australia.

(1) Thelastday’s play of India and Australia was disrupted by rain

(2) Indiaand Australia’s play of the lastday was disrupted by rain

(3) The lastday’s play between India anﬁgustralia was disrupted by rain
(4) The lastday’s play between India and Australia are disrupted by rain

Choose the correct one-word substitute.
. : . A .
A process involving too much official quahty.
3

e

5
b
i
-
f
o
x il

v

(1) Nepotism (2) Diplomacy (3) Red-tapism (4) Bureaucracy

Choose the correct one-word substitute: =
One who despises persons of lower sociat position.

(1) Prim (2) Snob = (3) Prig (4) Aristocrat
Choose the appropriate phrase.

Susan generally at an odd hour.

(1) - turns over (2) turns off (3) turnon (4) turmnsup

Choose the appropriate phrase. |
Mr. Kumar always _his word.
(1) goes backon

(3) getsoverwith

(2) goesin for
(4) givesawayto



25. Chuuse the correct order of the given ju
and sea turtles / dived into lhﬁ*sea [ the §

l 2
(1) 1,3,4,2 (2) 4 13 3) 3,2,4,1
2?-‘ Choose the correct order of the given julmbled sentence.
lumedr'allhmwellw:shm!tﬂLhﬂplﬂ dings of / the boy /
1 2 3

(1) 415111213 {2} 411!.15-’3‘2

Read the following passage and answer the que
Besides this genetic reason, there is also a secol ’. ‘reason whyﬂé#sgmnﬂm may hﬂ\fﬁ
to be smarter than Westerners. Modern Euru ear :and American children spend much of
time being passively entertained by television, radio and movies. In the average Am
household the TV set is on for seven hours per day. In contrast, traditional New Guinea ch ildren
have virtually no such opportunities for passive entertainment and instead spend ﬂlm“ﬁ iL

their waking hours actively doing something, such as talking or playing with other ch n %
adults. Almost all studies of child developmentemphasize the role of childhood -mmuiau on and
activity in promoting mental development, mw the irreversible mental stunting associated

with reduced childhood stimulation.

27. Who among the children are morc mt:.,lh;nt in author’s view?
(1) Americans @ Westerners
(3) New Guineans ~ (4) Indians

28. How do New Guinea children spend lhcii':j e in the day?

(1) Infrontof T.V. 1 (2) Passivelyentertained by movies
(3) Fighting animalsin the wild (4} Talkingand playing

20. Which one of the following statements. i;&nnl supported by the studies of childhood i
development?

(1) Active childhood leads to mental E-ffﬁﬂl
(2) Passivechildhood is detrimental to mental growth
(3) Child who grows in technologicallyadvanced societies is not intelligent

(4) Child’s mental growth is entirely dependent on genetic factors

30. Which factor is most effective in accelerating mental development of a child, according to

the wniter?
(1) Challenging social context  (2) Technological social environment
(3) Stimulating entertainment (4) Genetic reason

6-A



r
''''''''''

wiaemdibio ot s R ‘g
4 G 5): 16, gy ) (4); KV o

33 A dishonest trader sells goods of 900 grams weight as the goods of 1 kg weight. Then en his
profit percentage is b LS
&8 Qo8B 3grs 900 [ hHie Sk | 8 s ST sk,
e888 odod ergrasn 3 '

(1) 10% (2) I]%% .4(3) H%% (4) 101

4 9
34. A, B and C started a business with investments of Rs.12000, Rs.24000 and Rs.9000
respectively. After x months A withdrew his capital and after x more months ‘C' withdrew

his capital. If, at the end of one year they share the profit in the ratio of 2:12:3; then the
value of x is

A, B, C oo 568m & 12000, &» 24000 %6030 &, 9000 pedst uf Tgarde
FoDomrdh. x Jvo S8d A TEFEo ol &S5 Lepwdd IHEK Edo8 o,
SIS 08 x Jood Cargrdo Soobh 85 wipudd gL éé}ﬁ'é’lﬁ:* 0N OB I0H
T ergluesy 2:12:3 ANES” J0LHE VS, WSy x Dend

(1) 4 (2) 3 3) 2 (4) 1

Yo

35. Therate of simple interest per annum to be taken, so that an amount becomes four times to
its principal in 21 vears is

2] So3&8Sned® vy w8 Budo, edw 300150 el B ST OE. BB Sehs
FOSEOE eSS Béx

I|I 4 Eﬂ 2“
(1) I4F% (2) 14'.;:/5* (3) 147?'/5‘ (4) 14;:;%



\ , -.:r._': e .{:E__"_I_ o Hﬂ.ﬂfﬂ ““agemWSﬁ at

. amer 4000 wond, 2017 D568 © 93
M 1250 (2) 6250

; }‘BBI'ZOIS is 4000, then 1ts po
F. = - 25% o< '.:_:1:'.:"1"-" 2r L8 H e S -
e ?ﬂw @8 ﬁgﬁﬁ&dﬁﬂ SMINEU0R, AU]D NOBu0 el

7. ﬁﬁﬁxcnmamﬂhmnseachﬂnﬂﬂfw a4 twe 1pee c

38.

39.

If the total value of these coins is RS. 1 57,
number of two rupee coins by

28 DPSD 38 sdos” HO 1§ E TodIK oo
& S@e ando dend &r. 157 wone 1 Bods m-r.-ai ®©
G B& Grroie B0 JoBg '
(1 8 (2) 12 3) 16 (4) 18

There are 50 questions in a test paper. Each correct answer fetches 2 marks and for o
i th -.
wronganswer - of a mark is deducted. Iflﬁﬁmon attempted all the questions and of

73 marks, then the number of questions he answered correctly is
8 DaSEsns’ 50 BHer S0 SO B8 SIrTI50sE 2 Sreye0 HE8
l |
SoBay (D6 &y SrerISndse 4 SN, Shotndodd. w8 S38 ©R) BHO 2TENO)
oo 73 Sy o0 Fodd, o8k BBGHS SSrraren o°hE PHe Somg
(1) 38 (2) 28 {3y 12 (4) 10

If the sum of the first n terms of an arithmetic progression is 7n°+2n, then the sum of its
third and fifth terms is

&8 BOEEAS" 36 ndere IndSn Tn'+2n vond, & FHS'D SardS SoBa%o :af:i;f
QTG 080

(1) 75 2) 120 (3) 102 4) 12

2
3 9L 36+[7+{8(3-5)+5(3+2)-1}-7] =

2
36 & 5 08 + [7+{8(3-5)+5(3+2)~1}—7] =
(1) 30 2) 31 (3) 32 (4) 33

8-A
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41 1fa single card is chosen at random

52 856,05 BONS 84 $008 2.6 Soma,
S ARy S8, BHLK Ko Sowrse.

7 17
(1) 2% (2) 5

42. Abag contains 4 red and some black | .
probability of it being a black ball is twi
balls in that bag is

&8 JoDS* 4 J¥lacden, §'Q) Sodmoden Lo, cirEytyson Sod Hod a.sr&

L. 60 5008 L&y SowrSgs, AGEod walss SowSsEk Do Sod, & Soe*
de Sodwode Sopg ; '
(1) 4 (2) 8 (3) 12 (4) 16

43. The greatest number that leaves remainders | and 2 respectively when 8178 and 7971 arc
divided by it, is
8178 So0asn 7971 o SRORITYW, SWH 1 S0 2 FTaSwess @) AR Somg
(1) 11 ) 13 (3) 17 4) 19

44. Ifthe L.C.M. of two numbers is 1763, then the sum of those numbers is
o> Romgo B 1763 wond. e SoPLO ToodSw

(1) 84 (2) 90 (3) 92 (4) 80

45. [Ifthe ratio of three integers a, b, ¢is 3 : 4: 5 and their sum 1s 252, then the ratio of ¢ and ;
147 1s

a, b, ced Sard g dompgen 3:4:59

QBS* »od, 8 <0850 252 sond, ¢ 208a5n
147 © %8

(1) 7:5 2) 5:7 () 9:5 (4) 3:1
R, 6 . 4k + 1
: 1 ?_14‘ - kr R T
46. [fthe fourth proportional of 503 and 7 15 K, then &k -
e § P e 3— T =
T 5 000 37 © e wgsw k wand, A
4 6 7 5
(1) &% @ 3 G) 3 (4) 7

9-A




48.

49,

50.

\%45 2-;- times the previous job is

5&9‘5 %ﬁ:mm S'J‘Q oo e

b AR
= lri l|_l <, o ; ‘ % .--“.I"_ :.:._::1'|
L7 f‘
-

1
(1) 2 (2) 2_2'

Ina 1000 meters race, A beats B by 100 meters and C by 190 meters. Then the dlstancé
meters) by which B beats Cin ﬁmshmg he 'm 5 ;.
1000 dotag $oit> SoBos’, B &> 100 .*.aeas &ro Bara'sr, C S 190 28Y ..-sa-
Bt Aﬁ,ﬁea-r‘i: soxna B B énﬂu& 0 iﬂﬁiﬁ:mﬁ‘}éﬂﬂ B 350050 Co aﬂ:nﬁg i'i i
&rdo (Doogs?)

(1) 110 (2) 90 (3) 100 @) 120

Ina class of 20 boys, a boy ate 25 chocolates. If the average number of chocolates eaten by *
the others is one less than the average number of chocolates eaten by all, then the average
number of chocolates eaten by all s

20 5008 ek EOAS SERES", w8 el 25 TE 8mdh. HAdS T B3 :TE%;

Hifd, Awgo wrend 8N WEL SAd) Bod 84 Eiéabaﬁ 3ndgo wrend 88 E'Eh-.l
BwEy, 2t

(1) 3 (2) 6 (3) 4 4) 2

In Arun’s opinion, his weight is greater than 65 kg and less than 72 kg. His brother does not
agree with Arun and he thinks that Arun’s weight is greater than 60 kg and less than 70 kg.
His mother’s view is that his weight cannot be greater than 68 kg. If all of them are correct
in their estimation, the average of different probable weights of Arun (in kg) is

el BEG0 ©5Yo BEd BHY 65 ESITSNG Bobl 895 Sobcin 72 St S
08 d535 S0tuod. BiHd Ik w8ds* JELEDoSE, sXd 2P 60 Eeﬁ‘wﬂxﬁ
Eo@ JBy,S So0cin 70 86 mine K08 d83,S vRFolnand. el S0 Syne* E@
25 68 BS MIne% Dol dodls. & B0i8 wodT e aama acﬁasﬁ' GA0E), DR
PO whYe Sl (S msnes?t)

SN (2) 68 (3) 67 (4) 70

10-A




- 5 sk & e ' v;:. ‘ ‘
51. The number that fﬁﬂﬁ"ﬁ%j* the sequ : 1}_25&4 &
AND.6 59 e s
4’ th 51:_ 4 I--? rree B8 Igﬁ)ﬁﬁl "f ; ﬁﬂms
¥ & v 21
W 1 @ Ts

52, Thenextterm that follows 214 in the sequ
4,4, 10,28, 64, 124, 214, . 5 2
(1) 340 (2)

'53. The number that follows 206 in the seq;e 9,2,~17,-54,-115,-206;....] :
9,2, 17, -54, ~115,-206, ... s58508% =206 538 S8y dopg
(1) =323 (@) -333 (3) —343 (4) 353
54. The product of the 10% and 11% terms of the sequence -4, -6, 6, 4, 0, 6, 14,24,

4,-6,-6,4,0,6, 14,24, ... s585006M10 5 $:005 11 3 oo o), ogan.
(1) 3300 (2) 1800 () 1864 (4) 2544

330

LER-

From Q.No. 55 to 57, letter sequences in Englishalphabet are given. In each sequence some of
the letters are missing, which are given in that order as one of the four alternatives below it.
‘Choose the correct alternative among them E
BHes 55 Jood ST S8 sof wis eESro ANWESD. @8 sHFEos D SWodS )
SESINOD Srdod pho Flodmil gy Ehos! ek oREsne aimwlTon.
DES* KOS DOESS JobE BaBos.

55. —ac—aaccc-aagecc—aaa }':*
(1) ccaa (2) aacc (3) caca (4) acac "
56. abc-adcb—-cdaba-ccdabe-ad
(1) dbdb (2) dcba (3) dabe (4) abab

0 57. abcb—acab*c¢be~ab-c
(1) caba (2) baca (3) abac (4) acab

58. Ifthe letters of the word given below are rearranged to form a meaningful word, then the

new order of the numerals that are assigned to each letter in the given word is

Eocs anBhs S000'S GET O w8 $ES0SLS Sdo 5T Don 80N ©5:0)8, ESHEE™
B8 @808 mﬁsm&.‘é ®OB® :ﬂmﬁb Srds (Fio

HNRCADB

12 T 45 06

(Iy 653412  (2) 356412 (3) 415623  (4y 635241
11-A



59.

60.

61.

62.

63.

LY
|
ra— 1|-"";1 :B

Ifina certain code language “TRIANGL:
is written in that code language as F
£ 86 oras® ‘'TRIANGLE' &3 58558888
e B0k aly TRH. |

(1) DYBNOMD (2) DYZNOMD

i

If“ski rps tri”” stands for “Nice Sunday morning”, “teh sti rps” stands for “Every Tuesday
moming” and “ski ptr glm” stands for* . market plﬁﬁﬁ*’, ﬁgﬁﬁie word that stands .‘-;1-'
Sunday is » g : =
“ski rps tri” w3 5850 “Nice Sunday H_:i':-.% ng” %, “leh sti tps” ©36 “Every uesday
moming” &, “ski ptrglm™ 38 “Nice market place” &m.& Sunday s Maﬁﬂ# |
(1) ski @ ms @) w @ qim

In a certain code language if ACE is written as AIY, then BED is written in that :cnd@f;

Rani goes 20 km towards South from her house and then goes 8 km towards North fruni_-;'

there. Then at the end if she goes 5 km towards East, the distance and the direction from her
starting point to her destination 1s

(1) 12km, North (2) 8km,South

(3) 13 km, South East (4) 13 km, North East
b &5 ool 08 EEno Dk 20 8.5 drdo 39, e§ & S0l 8 8., Sddo IYIK
3. © SHrd BES S 8. Doen Bt Holrdy, S5 2oHeR0S oI ok
e AT 0B o drésn 005 B¥

(1) 128, &gdo (2) 882, &d8mo
(3) 13 8.2, ehcho (4) 1358, SeSgo

Priya travelled 3 km straight towards South, then turned left and travelled § km straight
Thenif she turned right and travelled 3 km straight, the distance from her starting point ¢
the destination (in km) is
Bob d8mo 3HE 3 6.0 aF)T (SokredoB, AESIIHE B6L 8 5.5 88T Hesresonie
68,8 $008 ¥ 85 ©A3G% 864 3 B SHT BArSY 6 nabesdos Foi
S308 fSogFant fo Srdo (8.5.06%

(1) 6 (2) 8 (3) 10 b (4) 12

i

AL gaA



65.

60.

67.

8805 st Sodo S8DHL H0h!

right and walked 25 m, Noww the distariiie" ed nghtand

S0%g g, R0l Bups SE55n 3

10 %, 8™ 549, J6539% 50 2 jecd- S “‘& e,

3%&&: wd vl b K

:LJ ﬁﬁﬁéﬁ B '”‘\ >
BRograRE Ho drdo (.06¢) -

(1), 5 (2) 10

(1) Sister-in-law i (2) Nephew
(3) Aunt (4) Niece

Ghesio Sradn, "R80 $9 ;0 HEHW, Third s&S G, Sod” 8l
©@oH, s'2SE SU5E e énmuc’.iu
(I) 368 Bo s (2) o o FE0 Soardods
(3) esods (4) PEHD So FS0 oSG

Introducing a man, a woman said “His wife is the only daughter of my father”. Thenthatman
i1s related to the woman as

(1) Brother (2) Father-in-law

(3) Maternal uncle (4) Husband

o8 YHDED Ssoho Tl “HehS gy SrTHmo JBE S0l ¢l o8 g €08, &
Igaﬁ“ & Jdandol He Somogo

(1) e (2) Brsams

(3) JbI3Srd (4) &4

Mahesh told Manoj *Yesterday I defeated the only brother of the daughter of my paternal
grand mother”. Then the person defeated by Mahesh is his

(1) Son (2) Father

(3) Brother (4) Father-in-law

S5EE R U8 30 S oSSy MB S05Y g, JBE H#SHAD Lo B
wol, HoRn u&ammﬁ.ﬁ 598, wdd

(1) Sk (2) 808

(3) &8s (4) Srlamds

13-A



St“d!r' the figure carefully and answer the questions f;

68.

69.

70.

T1.

72.

¢

- ﬂﬁ}’aﬂr'c'gl ﬁ![ﬁﬁﬂ* wgolodo B 68 008 71 Sxky e @Sﬂéﬁi BEPTEER = AT T

Here . .
1) Big triangle represents artists
2)  Small triangle represents scientists

3) S da -
4; quare represents dancers Aqa%}r 1 .

- - -3

A
Circle represents doctors " |
3 F & b
1) G @zhadn Errhos ST oSy |
2) B @Hoasn TIIEoR JrD0WHS
3) BYHsn SEssrhod o
1) SEsw SO0 BrDowM.

The letter that represents the artists who are the doctors and dancers only is
STHos’ de Jdgen Socsn SEFTERO% SmEd drdo @580
(1) A (2) D (3) G (4) H

The letters that represent the artists who are neither scientists nor doctors are
Eesdod” rgiger, ddgar 57 IO Srdod SESSnes

(1) AB (2) AL (3) B.G 4) L.H

The letters that represent the artists who are dancers as well as doctors are 74
SEOod’ §dssher Soats SEogar sondsid Srdod wELSoen

(1) AD (2) CA (3) CD (4) GH

The letter that fepresents the scientists who are not artists is

TIHE LoNHos, s iien 5rSinsos 62 Brdoh wESS)

(1) B (2) D (3) F (4 L

The missing number in the

place of the symbol “?" as shown in the third figure of the
following is

BoS 2ind 58S Digoest 9 N8 ) FI0ST TWODS Sopg
ANVAN
2 9 1
(1) 155 @) 165 (3) 175 (4) 185

14-A
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73. "I.'EEP-f-hlluwing staten

i

74.

i o

L _". 5 i ey e o o I B = MRl
- 1F‘$I'“:"r’:' e
iHHi' qmi‘ﬂﬁ LS e L™ |

. :......-.f d l-:-' L g

T ey e

on the given cunciusmns ;
Statements A:  All the ur ors

5. & gﬂmsed YRS {ind time forrest, :
Conclusions : I ; Suml:a 153110;33“ g Bl

I1 : Sunita is an industric it
(1) BothlandII follow

(3) Onlyll follows

&0S8 Bodo PaEdtne), dody ﬂu*ﬁu
a%ﬁ&n:&: Klgwm‘juﬁ

__T.,ij; n.
Person :
(2) Onlyl follows v;b ; L Nk
(4) Neither InorIl follows

D 285D, G G o 1

POSSS0es A e FSogso Ko S§S00s08 JFoss SSickho ﬁ‘d:tﬂaﬁa,.
B: [008% ©B508 Sepio I[HBE, JFoss SHoho SRS, e
ddwen [@ o loloalss E‘J‘uﬂ:gga Ho Sg8 | |
T 008 50Edod S&gotfe $58
(1) 1300k [lessdon (2) [3r8d eb65308
(3) N 3mEd 0505085508 (4) I, eo dodr ©30d8053

Given below is a statement followed by two conclusions. Choose the correct option based
on the given conclusions.

Statement: “Fortune favours the brave”.
Conclusion: 1)  Risks are necessary for success.
l[) Cowards die many times before their death.
(1) onlylfollows {2) onlylIl follows
(3) either [ orll follows (4) neither I nor I follows

9 SI0O0 wh POSIEN b Dok ITdne asiwdsd. AaYs Igdne sodom
OGP0 a:ﬂrjﬁéaaﬁ: fMoBodiod.

PSSSS0 1 BEgSosed vdRe $68308.
Adoen: 1)  J2odAEH5 0F) HoFIdo vido

) S88>rd 8 So8erdl S006 SIEIL SIed,
(1) [3r8d eH508508 (2) IS~ B00H068

(3) Isa 8o Il 572 ©H0Jon (4) LIleoBodr 656083
15-A



71.

78.

oy Pk

£

w.'-!rlli " |1 N

= - in the eXaminns: ~w I e h,.g(t‘? 4
ment - To succeed in the examj atio 1, One Rt :;? g L

AT nr,.-:r f-
oy Nk

"*

.;\-r-c-p.

.'h.n

Conclusions -
(1) Examination isrelated to hard work

(2) All those who work hard will succ
(3) Examination causes some anxiety
(4) Without hard work one does not sue

88 HSSTY) §od Ag e’ 06 eRBBK6E?
HBBEZ0 ; B6ES* ﬁﬁzﬁgmsmas a;sﬁmn, §45m0,
QT deen :

(1) 368 30F%06 58 Golwold

(2) Fasod TEoddr @8ROHE W

(3) H6% Sod s&ESH Seoidiyod Hoc FooBod esyss SBHD0SHOE
(4) WSnaon 56 a8k 5286

sewhﬂ‘ﬂfﬂrkm rd overcome it

Two bodies of masses 25 kg and 35 kg a[edropped vertically from a certain height from th
ground. The rate of change of their velocity is

(1) More for the body of mass 35 kg (2) More for the body of mass 25 kg
(3) Same for both the bodies (4) Zero for both the bodies

o Fod ddkod 25kg, 35 kg B5gorben o Tods SPo = EDBASYH, ¢
2."‘»1'1"&:-5':‘& Sordoy B

(1) 35kg 855078 fo 58398 qs  (2) 25 kg (655078 Ko S99 J&?,aﬁ

(3) Tod IdnPess b (4) Do SJoko N)
Which of the following liquids expands on cooling from 4 °C to 2 °C?
(1) Water (2) Benzene
(3) Ammonialiquid (4) Chloroform
Bod 8S* I B 4°C 508 2 °CH SeaddSHk, T3 a%0s?
(1) A& (2) BoAS
- (3) 68 s3I (4) &8
Which of the following is not an application of total internal reflection?
(1) Formation of mirages (2) Brilliance of diamond
(3) Optical fibres (4) Appearance of sky in blue colour
o8 FES" 3B Jodpgrosy BorsdRE BRSEISH BE?
(1) doddryes it (2) Seo E5dothis
(3) &F dodheo (4) w5 do dOGorhe*® QoS

16-A




79.

80.

&1.

Match the following
List - I (Principle)
a) Impulsive force
h) Moment of force
¢) Mechanical energy
d) Law ofconservationof
angular momentum
B0 T eddddobs,
e - | (Smgo)

a) Wo'ddweo

18 :" B
s v S
Motion of Planets

i) Ballhitbyabat
Flying bird

e -1l (e5g50)
98 Soy sRddme
b) ®e ko i) @ Ko :

) oiro®s 78 | iii) 2089 arglSst Sind
d) Fdad $5538 Degse dasasoo IIf'iv.r) JA0 58

Choose the correct answer

ROGLY AT ES0N KBS

(1) a-ii, b-1, c-iv, d-iii (2) a-iii, b-i, c-iv, d-ii

(3) a-1, b-11, c-1ii, d-iv (4) a-1v, b-ii1, c-1, d-1i

A block of mass 2 kg is lifted through Zm*fmm the ground. The potential mmgyofthn

block in joules at that height is (g = 9.8 ms*2) :!
2kg 635073 ffeo w8 B35 62> 508 2M A% IBIYH, & IR 35 © By HouE
goud’ (=98 ms2) ¢S .

(1) 392 ) 196 (3) 4.0 (4) 342

Assertion (A): Cricket player pulls his hands backwards while catch ing the ball coming
towards him with high velocity L

Reason(R):  To catch the ball withoutmissing
(I) Both(A)and (R) are true and (R) is the correct explanation of (A)
(2) Both(A) and (R) are true but (R) isnot the correct explanation of (A)
(3) (A)istrue but (R)is false
(4) (A)isfalsebut(R) is true
LEFES (A): 1838 sbmrd s83fom €5 2P 3Ty wodd DLLF LB, 85
Do I erbhadn.
s6mo (R): 2080 sbydsooar HEpEOLR
(1) (A)&8cso (R)es Todr dao S38e50 (A) 8 (R) S6605 955w
(2) (A) 50008 (R) oo Bodr dzo & (A) 8 (R) 30608 2560 3o
(3) (A)dzo 572 (R) 8y
(4) (A) 85y 53 (R) Dz
17-A




82.

83.

84,

85.

86.

87.

(1) mA (2) vaA (3) VIA (4) A

Kirchhoff’s junction law is the -=-i.. . -
(1) Conservation of electrical energy
(3) Conservation of electron momen
BErD zofs RabSo B B 1’)6

(1) Dogs €8 Asg850 '
(3) Jeogs G550 I8gEgo -

Conmahm of electron “ﬁ
) Conservation of electric ch ﬁ"

J ) -'.‘:-uLB;S @ng Ms%ﬁ'ﬂ
4) Sdgodd ndgt{go

Which of the following waves requires mhm for propagation?

(1) Radiowaves (2) Soundwaves

(3) X-rays (4) 7-rays

$08 8" 3 oo BPTAE CIrIES B5HES8L?

(1) Béar d¥omre (2) & BBomen
(3) X- &Cmren (4) 7 - 88=ren

The maximum number of electrons that canbe accommodated in an orbital with 7= 3 ane
[=1is

n=3.1=1 dexdes o a8 ﬁﬂaﬁﬁﬁ@'ﬁ'ﬁﬁfﬁ JuEd Sowg

(1) 2 2) 6 (3) 10 (4) 14

Identify the aqueous solution of the salt whose pH is less than *7°.
pH Dend *7" 8on 59,5 Ko odnae (&SR HBoSod.
(1) NayS0, (2) CH3COONa (3) NaCl (4) NH4CI

Which of the following processes represents ‘roasting*?
Eo8 PES” 28 PP PBiEchB Jrddgod?

B) ZnCO;—2 740+ Co, ) A4L0s2H,0—3 5 41,0, + QHEQ?Q

In modem periodic table, an clement ‘X’ has ns’ np configuration in the valence shell. ‘X
belongs to the group:

5008 855S QUES* ‘X' wids Sameko wé‘g%un Qargdo nsznp3 @one ‘X’ &
B Bodoss | .
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II.- L]

9., vfhiehurmcfaunmmmeculﬁh. -

90, The process of cleaning of fleece of sheg; YW with a stream of water is.

; 533
=] L ol
; . . ] 'ix-' -\..i-',_l ;

-" ,r o Lkt
Nﬁﬂb‘ﬂ] 2@"‘ -,_i. = " | ot
--wﬂ%ﬁ%—iﬁf f"s:"!'ia'i:: b |

(15 mmﬂverr m nam'f&

o (sigma) and - (pi) bonds’
} ﬂgﬁ'ﬂ}eﬂﬂ&# ﬁ hd i

@sﬂﬁrwgag Bdahodh o - iﬁﬂ‘i} b i N
) Cﬂz r '-k:--__-j.

(1) Reeling (2) Shearing (3) Scouring (4)
AR Bopofes: NS 544 BiEch i
(1) 880R (2) &80 (3) 8ok “)

[n plants conduction of sugars through phloem has been demonstrated by

(1) Cobaltchloride paper (2) Removingri ng of bark
(3) Thistle funnel experiment ' (4) Sphygmomanometer
28 eeD FiE Sameod® oF do T H4BoH Baxrio
(1) &g §385 shdo (2) Bt S0 Sofiodlo
(3) @RS Hodw Pario (4) myifysostobd
Match the following.
List-1 List-II
A) Principles of population i)  Atavism
B) FElongation of neck in giraffe i) Divergence
C) Babywitha tail i11) Malthus
D) Fore limbs of vertebrates iv) Lamarckism
v) Convergence
adSdocnsw:
e - e -1l
A) e RDIgodo 1) edrdass
B) =z2o0s' 308 o i) ed33rdo
C) &5 50ns 399 i) Srero
D) RJgddse Jrogomen V) erdSrdzd
V) ed>do
(1) A=t B-1C-11 D-1v (2) A-iiiBavC-iiD-v
(3) A-ni B-v C-tv D-u (4) A-1iB-ivC-1D-ij
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94.

4,

@Dﬁaﬁsﬂﬁﬁ a8 So0d a’)'ﬂi-.‘l 2dod J
A) IJewdd drsBEFSd0

B) SoddE ogiied

C) oo Sopg difbo

D) Sard) 20385 |
(1) AB.D (2) B,C,D 3) ACD (4) A,B,C

.......

Assertion (A): Steapsin is secreted by pancreas
Reason(R): [Itacts oncarbohydrates

(1) Both (A)and (R) are correct and (R) is the correct explanation to (A)
(2) Both (A)and (R) are correct but (R)is not correct explanation to (A)
(3) (A)iscorrect but (R) is wrong

(4) (A)is wrong but (R) is correct

B8SES (A): BSosn $08 DosrdS Blotntod
5620 (R): 28 boddmoes HNENS

(1) (A)S8cko (R)dzo. (A) & (R) 585 560

(2) (A)Sasw (R) dzo. (A) & (R) 58S 256 528
(3) (A)R=z0 573 (R) dao 57

(4) (A)dzo 5 53 (R) d=o

Choose correct schematic path in coagulation of blood.

(1) Thrombin — Prothrombin — Fibrin — Fibrinogen — Clot
(2) Fibrin — Thrombin — Prothrombin — Fibrinogen — Clot
(3) Fibrinogen — Fibrin — Thrombin — Prothrombin — Clot
(4)  Prothrombin — Thrombin —» Fibrinogen — Fibrin — Clot

gEQoiso 2B0LYd DK G¥e Hownd SED E5rY) HYoSa.
(l) Fuﬂﬁ - @S o Q@S —y 2@5‘2:5 =" -‘.SEQ}HQ
(2) 'QLEE = @005 5 MErodS - BB > SE N
(8) BOTES - VS . @005 — BEODE - SEHAG
ﬂi EE08S - @od§ -y psas > POS - SEHAG

20-A
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(@) Yellow, Greenand Yellow,

BEd Tog, 0" foador, S 85,50tk

(1) Hdod, s Sockn wsd),
(2) wsobs, S5 Sobaks S0, GBS
(3) wwossg, S Soah ek, &
(4) B3, esdd) S80S S8, mgﬂ

Assertion (A) : Littoral and Limnctic zones are photic zones,

Reason (R): Inalake photosynthesis is less in these zones.

(1) Both(A)and (R)are true and (R) is the correct explanation to (A)
{2) Both (A)and (R) are truc but (R) is not the correct explanation to (A)
(3) (A)is correct but (R) is not correct

(4) (A) is not correct but (R) is correct -
BBIES (A): OL'6S 58030 3088 Hodeoren Foddobom wotron 1
s'8mo (R): 86536'0 & Sodoros® Bdmasy ool S5y 5m alhided

(1) (A)Sodcin (R)dze. (A) B (R) S8 D56

(2) (A)Soboin (R) d=zo. (A) B (R) €3S D58 s
(3) (A)d=o 53 (R) dzo 578

(4) (A)d=o 57 (R)dao

The special structures present in Dolphins enabling them to inhabit at particular depth in
the water are

(1) Flippers (2) Floaters

(3) Lungs (4) Tail

FySe NS 208 Fond’ ISvodERE o8 oty @agH P

(1) &8s ﬁm:gm (2) Pbbes

(3) HBOBK SR
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100,

101.

102.

ERNae (2 1:1.302 WY 1:1:2:3 @Y 1:2:3:)

1d 50il o u&@mﬁmmwwﬂ
Ql} Neam and Jarrapha ~ (2) Jatropha and Neem

(3) Gliricidia and Jatropha '.:' Jatropha and Gliricidia |
2BrE2E (25 aodso) FEE So8cin ’ B2 Biys0 Acssrr Ol HoB Dol
SESm

(1) 33, ags*y> ’@) 28ty 35
(3) assdcsr, aE'd @) =E'y, A8t asr

In plants, the nutrient that helps the 10018 {0 penetrate deep into the soil to absorb putrients
quickly

(1) Carbon (2) Phosphorus  (3) Nitrogen (4) Potassium
SWH oSt G Sud's S'dm T\ BOoN, FaE STpes dosom FhohsSe A8
&'$\d Fa¥o

(1) E&So (2) wridgdo (3) H$=d (4) Dréracioo
Match the following:

List-1 List-1I
A)  Sulphurdioxide 1) Catalytic converters
B) Rhodium i) Global warming
C) Ozone depletion 1) Acid Rains
D) Carbondioxide iv) Montreal protocol
BSOC0TOD0:

anda - | ade - 1l
A) S5 doirfons i) BLBGE 8585
B) G&'aoho ¥ i) fod o8oh
C) &&8'S bes i) S5 Soven
D) 565 dosrgons V) SroBohd F'eS
(1) A-iii, B-i, C-iv, D-ii (2) A-iii, B-ii, C-iv, D-i
(3) A-iii, B-iv, C-ii, D-i (4) A-iii, B-iv, C-i, D-ii

The ratio of ploidy of chromosomes present in nuclei of antipodals, synergids, zygote and
mduspenn respectively are

g:aa-ﬁﬂ Bereo, P Sareo, Hocing AN, LoKHEHEsNS') ERrE Sne 20
aﬁ;g Sddm
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1his
o

. Match the following with reference tog

3) Mphase
)

assification of living orga "m

o&
- M&d

A)  Chatton i)  Vegetabilia
B) Linnaeus x H) Protista
C) Copeland i) Prokaryota 13
-y Fungi
9o 3066m wordomr Eod 00 2EBGS 50,
e - | afer - 1l
A) TuS i) S2sDOr
B) &3008 i) @O
C) §Soos r 1) Bods Pos £
D) s LY e ‘
V) BoA A
(1)  A-iii, B-i, C-iv, D11 (2) A-v,B-iv, C-11, D=1 i
(3) A-ii, B-v, C-, D-iv (4) A-u, B-iii, C-v, D-1

- 105, Assertion (A): Inechinoderms water vascular system helps in excretion
Reason(R):  Inechinoderms excretory system is absent

(1) Both (A)and (R) are true and (R) is the correct explanation of (A)
(2) Both(A)and (R)are true and (R) isnot correct explanation of (A)
(3) (A)is false but (R)is true

(4) (A)istrue but (R) is false

BSBIES (A): PIEE 0" 2opddn P8P IVEIS' Sdydoses
sdwo (R): IBTEGus* Dge 5;;5%__ & oK.

(1) (A)SBass (R)Bode 56G50:52 508650 (A) 8 (R) 8688 256
(2) (A)30cw (R)Bodr 2050352, 889 (A) % (R) S08%05 D586 sk
(3) (A)JESRB 56 0 (R) 505086

(4) (A)ZoDoEB 0 (R) v8g058 578
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107,

108,

A)
B)
C)
D)

()

(3)

| gen wa:, ress Symros’ HTSE

e - A
6y

ST oucd'

g'eS

dorS

A (iv) B (i) C (uii) D(ii)
A (i) B (i) C(1) DGv) 3

_ uli /) ma*smda
2) A B (i) C() D(wl
fl} A (1} B !:I_ll] C(iv) D (i)

Who wrote the book “Prataparudra Yas : A tanam’’?

(1)
(3)

BEd G HFfrhmo’ - ol 88

(1)
(3)

: ':) Jayapa
Vo 4.4 A

(2} 23S

Prataparudra - 1
Vidyanadha

ST BT e Te b=t

Dorged ’ (4) Bols BESEHEE

Consider the following statements:

Cornwallis permanent land settiement of Bengal:
Deprived the zamindars nl'ﬂwnl:r% of t.heu- land
Put the ryots under the mercy of mm

"

a)
b)
c)
d)

Secured a stable income for the com
Made zamindars allies of the East]'ndm company

o8 STgpgeds BBiTodcs
5ORT 0% Bords* Fitdn Qgas W.’ﬁo EaIvRgdos’

a)
b)
¢)
d)

aabonﬂ'ﬁﬁo fo grairadrages Fuaoi‘a
BOTIE dairoriTod’ TonddEnw
Sonnd H0Rd worai:o §0A0hh
2WomEH FoudE DegddmEeom ekt

Which of titr:se are correct?

(1)

st 5BEBG D87

a&d (2) be&d = (3) ab&ec (4) a&e
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i‘l-.

(1%} Iﬁﬂmhmﬁmr W 1 -"[hraBai‘ %
O) KasturiBai ) SavithciBai Phule ﬁ-
DICES' Dire PEp o wdhE dog _.s' :&:wga‘l.ﬁ 0%

(3) #dxtaran (4) >odwron P8

. ":-T

i ‘H . _
L

- Who was the First Bengal Governor general at the time of company’s rule?
(1) RobertClive iﬁ'(:} Lord Canning |
(3) Warren Hastings (4) William Bentinck ’

0N oIS IGE Bomd K568 858 3562
(1) ou§3s (2) o§ ok
(3) 68 doh) (4) Ddcko BosE

J | i 'I-,'. ,

L

L11. Assertion(A): The British parliamentpassed a new act in 1858. Transferred the powers.
of East India company 10 the British crown.

Reason (R) : To ensure a more rcaqa-nns:h]e management of Indian affairs.

In the context the above two statements which one of the followin g 18 correct?

(1) Both(A)and (R) are true and (R) is the correct one

(2) Both(A) and (R) are true and (R) is not correct

(3) (A)istrue but (R) is false

(4) (A)is false but (R) is true

BO>SS (A): 1858 &' @BR 3golS w8 F'E SipR) oo B0, Srdn FOAEN.
Eonn 008 6850w D80 0B 260 Schnds.

S0 (R): 880D 5535008 D008 Egss’ dgirome,

o8 PIS* DB HOTKE?

(1) (A)Seain (R)Todsr Do Sobaln (R) 038 36ad 258

(2) (A)0Basn (R)Bods Jeso Hb8oiw (R) dzo 5

(3) (A)Rzo 53 (R) g3y

. (@) (A)ssy 0 (R)dzo
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AQ B& agssssn
A B
Sgsoen BdveEren
) T oIS oo i) sdg ssrao
b) ®ddNoS ii) Osgers ddrao
€) seoo Jodsdol i) (@ Sdoao
d) 0 Sosrsosn dy) (Fgo SSrwo
(1) a(ii), bliv), c(i), d(iii) (2) a (i), b(ir), c(iv), d(1)
(3)  a(iv), bii), c(iii). d(i) (@) a(iii), b(i), cGiv). d(ii)
113. Who preached the Idea of “one nation one God and one religion for all™?
(1) BhagyaReddy Varma (2) Narayana guru
(3) Jyothirao Phule (4) Annie Besant
a8 a8, o8 3o, uf Hrd0 @bl B S'BoO5H?
(1) =rngeg 36, (2) TTcHeid
(3) =380y & (4) wIdBoE
114. Which one of the following did not form a part of the chola army?
(1) Navy (2) War-elephants (3) Chariots (4) Infantry
Fol TAS' 28 S IY wodE edSE T80

(1) JFs2eo0 (2) Hzd<o (3) SFzmec (4) Sorasvo
115. Which of the following is wrongly matched?

(1) Sepoymutiny- 1857 (2) Battle of Plassey - 1757

(3) Il Battle of Panipat - 1761 (4) Battle of Buxar - 1864

ol TRS* Sy 2E35258 Ha?

(1) Sdrone 8SMHeres - 1857 (2) 2 osmgo - 1757

B) HrE FISLy engo - 1761 (4) oG Sgo - 1864

il

.

Brahma Samﬂ]‘ a®
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¢) =OnoKS

(1) adogss (2) amam@'

117. The life history of Gautama Buddha is known as
(1) Jawakakathalu (2) Tripitakas
TE2EN 298 308 & Desom BH8 Bosss
(1) =d8 s  (2) BOLESe

118. What is the meaning of *pasuras’?

(1) Singing of the hymns on Vishnu

(3) HymnsofRigveda
TRO30L) BImr?

(1) 29 >3 3658008
(3) &AgE Sorgen

; 5 3oKed wobbd
) sooh&iré \ “

d) SESE §
- (3) cI3rEd (4) a%datnd

R l =
i .-l,I _ ~
Iﬂ.-.

""llv "

(3) Buddhacharita (4) Damniasuiras

(3) w0 (4) &3smees
, g &
Songs on Shiva | 3
Teachings of Buddha

©PEHE 2P 8 Sben
2R S

119. Which festival was celebrated in a great manner by the rulers of Vijayanagara every year?

(1) Ramanavami
(3) Deepavali

(2) Janmastami
(4) Mahanavami

DeoiSKE Traren B8 SosE TSN vdrod PFSom uoh BokK D62

(1) oHosdd
(3) &3¢

.‘12{1. Choose the correct pair of the following

P (1) Vallabhacharya - Jainam

(3) Ramanujacharya- Visisthadvaitam
808 TIES* BOS 288 KoBoS?

4

L (1) Sesradgen - BiEs®

(3) oo ordogen - Da;“g@séa

B
SOTEES D

Sankaracharya - Vaishnavam
Madhvacharya - Advaitam

éugﬂ‘ﬁvﬁgsm Eﬁ&')u
mﬁ*ﬁﬁ"ﬁ)sm E'.,Ség




122,

123.

(1) (a)only

88 ﬂ-‘gﬁaqj‘dﬁsﬁa 23430 Ss0d Lgﬂ'ﬁ 0! O¥ S 50550 ﬂu;ﬂaﬁa:b}.

121, With refornce to the ndian Frecdom g e consdrhe ollwing e
: fﬁ KT'IE]II]H ﬁ'lﬂkﬂ was fﬂundﬁd by’ "I o )

b)  Krishna patrika was edited by M
Whlch of the statements given ﬂhﬂ‘-’ﬁ o r'-_:::-. : »
L) (D)only ey
(3) Both(a)and (b) 4) Neither {E)nm'gb}
8)  Hfdore tosses oD ETIOE M nﬁmam

b) EquEE Soddd Sebmd E 3

(1) (a) 58S

(2} (b) S

(3) (a) Sovcsn (b) Todr (4) Bdodr &
Match the following: N
List- A List-B
a) Desoddharaka 1) Tilak
b) Desabandhu 1) C.F Andruce
¢) Deenabandhu i1) Chittaranjandas
d) Lokmanya iv) Kasinadhuni Nageswara Rao
2D Suiodo:
endas - A adlar - B
a) QFToE 1) dof
b) @d¥zocs i) C.F esodsrs
c) &5 o ) OSSousoD
d) &'E5rsg V) BITHR FHRoDH
(1) a-iv, b-ii, c-1, d-iii (2) a-i1i, b-1, c-ii, d-iv
(3) a-1, b-ii, c-iv, d-ii (4) a-iv, b-ni, c-i1, d-i

The Gujarat Sabha under the presidentship of Mahatma Gandhi played a leading role in thi
(1) Agitation of Nellimarla Mill workers (2) Agitation of the peasants of Kheda

(3) Peasants movement in Bardoli (4) Satyagraha

Mol SPeREE0S* HET S 205 HoRb®

(1) 3058 e 56,8 sosfes (2) Pora'd Ddoe sos ¢S

(3) 8 06°Y Diboe wos S (4) SeyEdro
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| '(2) Bnycnnnwamentsﬂmﬂ
(3) Picketing of toddy shops
(4) Boytuttofpubhﬁu‘an:sponand
S JTELH'Egoos’ erios ), Eo8
(1) 8% S@e a@u:.:aa EOE e ﬁf
(2) Bubd; Frow, EFrTood 2 i

(3) Ben dpmre 08 NEDS Beuy & i

(4) ©ehdy BT6, Sorar SpHgis Wﬁm

I caﬂﬂﬂsﬁm B,

. Which of the following is wrongly matched?
(1) Partition of Bengal - 1905 R (2) Simon commission - 1925
(3) Gandhi Irwin pact- 1931 (4) Cnpﬂ Mission - 1942
EoB RS S BEBCOSH 87
(1) Bomd deas - 1905 ? () %S ghons - 1925

(3) mob - 0¢5 aiotio - 1931 1 (4) &5 crekwndo - 1942

) 326 Rabindranath Tagore gave up his knighthood because of

' (1) Jallianwala Bagh Tragedy (2) Brutal suppressionof civil disobedience
(3) Execution of BhagatSingh (4) Chauri-Chaura incident
ol EH08E TirE 835 JEHVE DR JoT SEOTHI?
A (1) 20668 Towh BB (2) TsSeodd Gdgh DONIS
: (3) SHSHok Sbbs (4) Tb - Fov boobd
_ Arrange the following events in the chronological order
i)  Crips mission ii)  QuitIndia movement
iii) Individual Satyagraha 1v)  August offer
B0l JSobdo e Bgas! fafoiion
i) (8D creherdo i) 58 Roddir &&giio
i) Sg8 degidro V) wrd @O .
(1) v, iii,dl,i (2) 1l iv, 0,0
(4) v, iii, i, ii

(3) i, i, iv, i
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128, Which of the following day is the “Difeet Atio Day” called by Muslim League?
(1) 1940 August 16 ¥ 'A{Q) 1942 September 26
(3) 1946 August 16 y JII((A) 1936 October 26

BuBobA beogd ‘(BégE Sorgdsem mm o
(1) 1940 esrisyy 16 L (2) 1942 Do 26
(3) 1946 K3 16 (4) 1936 eEad 26

129. Which of the following movement Was ot related to Gandhi.
(1) Non-cooperation movement
(2) Civil Disobedience movement
(3) Home Rule movement
(4) QuitIndia movement

Bod 26" modd Jowohodd HEzSe?
(1) #5%ch AoEdS Sgso

(2) vifocted &dgdo

(3) wro &rd Gdgioo

(4) &S qodusir &dgSo

130. What is the reason that Naval Revolution was held on 1946, Feb 18t%h at Bombay.
(1) Forpromotions
(2) Toprotestagainstbad food and behaviour of their British officers
(3) Toprotestthat the British couldn’t pérmit to form a union
(4) Toprotestfor high wages
1946, DSt 18 § Fowmond® Tede 8diharict: Ko Toma?
(1) ﬁﬁ':ﬁiﬁu e
(2) @67 efsdoe PSS oboin NOGRS BI*0o SEFJhdk 538355 Dol
(3) Sodvo Jomybok B8R EHRNEIKEFVLE ATDoDL
(4) ©&& Déro FEH D558
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D) Nn-unemuldmtﬁ'thwa orests
(1) A,BandCare correct but D is vrong
(2) A.BandCarewrongbutD is c

(4) AandBmwunghuLCandD 1
658 edJol Sonodod HOGSD.

A) Pz I§d 8o I BT

C) DhHos DY

D) & wéHoss IS5dr HItosdh
(1) A, BStoin CR0508d 570 n#@
(2) A, BSocin Cédy 83 DSoGSE

. The atmosphere is mainly heated by
(1) Shortwavesolar radiation
(2) Long wave Terrestrial radiation
(3) Scattered solar radiation
(4) Reflected solar radiation

TerS8mo Bedom 82 Sol a5y,408
(1) #5 80w o0 sl

(2) z‘,is‘bﬁﬁﬁlﬁg SGomres

(3) 3 REdm DR

(4) &8 Jbgm DTHERO

J1-A

(3) AanﬂBmmnmtbulCandﬂ '5';:'

B) &od wiisined sbd ﬁé; d-a 4 Emﬁﬁtﬁ{l‘

(3) Aot BHOED £ CHotasn D 8y
(4) A Sdaso Bady 5 € Soben DSohsd




B) BOGHBE

) Seads _
D) s i) Fod

(1) A, B-ii, C-iii, D-iv (2)  A-iv, Biii, C-ii, D-i
(3)  A-ii, B-i, C-iv, D-iii @) A-iv, B-ii, C-i, D-ii

|

134, "Gulf stream’ is found in this ocean. <}

(1) Pacific ocean ~ (2) Indianocean
(3) Atlantic ocean (4) Southern ocean

WS @aririn’ & SDHi0Ees® Entgos,
(2) trodr SoddsuBsn

(1) SH5E HB*B50ES

(3) ©irolSE S HS0BEN (4) S BodtdB0BSE0

135. The gases which are called as Green House gases

A) Carbondioxide B)
C) Nitrous oxide D)
T08 fyFrarsndes o) B votrd.

A) =4S 3 egl B)
C) RS eys D)
(1) AB&C 2)
(3) A.B&D (4)
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137.

138.

139,

(1',’1 . e
(3) HCandDmmnect
808 Trgmgeet 3OS I HY0SB,
A) Lholrd - HLgﬁuﬁr ;&:FEEM
B) etrosF SHdtdingo - e300s .‘&ﬁa w.:sra stciroR BB
) b"ﬂﬁ:‘ SoFESsnBo - shalr, u@m “@acﬁ?uﬁj psfeintenlolal A
D) &8m HEtdsnEo - votrs,85® ﬁz&ﬁ aotwod

(1) A, C50c80 DS80S (2) A,BHbcsn CHODID

(3) B,CSo8as D3Bgosd (4) A,B,C3:0055 DEOZRSED

One of the following is not a cropping season &
(I) Rabi  (2) Kharif (3) Track (4) Zad
Bob o8S® Hob TosH 58 | )
(1) @& (2) 68 (3) &r§ (4) wucsrd |
The following industries which are also known as ‘Sunrise Industries’.

A) Ironand steel industry B) Information technology

C) Hospitality D) Textile Industry

(1) AandD (2) BandC (3) AandB (4) CandD

DB HSBE HoFSwy’ B Srm wolrh.

A) a%sw - S& HOFS B) 3Sroésn - F0885S

C) ©8&gd» D) &3 SgE@so

(1) ASecsaD  (2) Boad»w C (3) Adbdox B (4) C%0B8c5nD

The highest peak in Eastemn Ghats

(1) Anaimudi (2) AroyaKonda
(3) Dodabetta (4) Mahendragiri
S et ESSeds” Jgé 280

(1) ©3s08 2) ©6ch Fos
(3) &EBY (4) Soogas
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Gi Mahavir National Park
D) Intaki National Park
A) wo&YPs IASS F§),
B) a5 3438 6, i) soows

C) S0596 3558 8, i) Ao

D) wmot8 IA3S 2§, ) H=os

(1) A-i, B-ii, C-iii, D-iv (2) A-iii, B-i, C-iv, D-n

(3) A-ii, B-iv, C-iii, D-i (4) A-iv, B-ii, C-i. D-iii
141. The main source of the Indian Constitution:

(1) American Constitution (2) French Constitution

(3) British Constitution (4) Governmentof India Act 1935

08 TrargorfiSnsE BN eTrdsw '

(1) ©00ES ocargorisn t 0 (2) (Pod oargorsn

(3) @85 oargorsn (4) ordd [@Hebde S 1935
142. The words that were added to the Preamble by the 42d Constitutional Amendment.

(1) Socialist, Secular (2) Socialist, Secular, Democratic

(3) Socialist, Secular and Unity (4) Socialist, Secular and Integrity

425 orargoll $50m & dTesH Targod BIEST FoBENs.

(1) &Sogars, &85 (2) >dogard, T8E, @errgdog

(3) >Sogard, T8 SoBas» DEgES (4) >Sogrs, G788 Sodokn dSoEe
143. The State that was first admitted into the Indian Union as an associate State

(1) Sikkim (2) Goa

(3) Meghalaya (4) Jammu& Kashmir

08 CrAADITE ke wSowod e 3 SoorT DS aS 0™ 520

(1) =& (2) Ao

(3) Sodrodk (4) =0y & =45
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147.

‘ ¥

o
(1) Anticle36  (2) Article39

(1) Bo =dd
() es8 =08

ch Article of the Indian Constitution makes i

| |  (3) Aricled7  (4) Article38
TTat SoE@es Mgehvodtn S50 8 gha@él arsasoS'd @Eim
(1) 365 @6 (2) 395 O¥dm  (3) 375 @sdm (4 385 Kdm

As per the Indian Constitution which of the following isnot a Fundamental Duty
(1) Todevelop scientific temper N s
(2) Tosafeguard public property |
(3) To paytaxes imposed by government

(4) Torespect National Flag

S orargomy)) ©Nben FolTAS FEHNE DG T
(1) =Rk HmEd Wodrobodks'ad

(2) Ezhds snod Sosfokhsad

(3) Behdto DBodS HineH BYoFITL

(4) =dch Jes) TEDoTd

Who became our Prime Minister after V.P. Singh

(1) ChandraSekhar (2) Charan Singh

(3) RajivGandhi (4) H.D.Deve Gowda
5.8, Holi Shad H888 HTIHo@ BB VIGIrd

(1) Sosdpd (2) SEHRoh

(3) odamed (4) 0.8, 33T

In which listof the Seventh Schedule is the subject of local government mentioned

(1) Unionlist (2) Statelist

75 g SS* 3% O e FIE PEbEges Bl ©o¥in Fodiddsndod
(2) og add
(4) w33 soven
35-A ’
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149, Whh_.pr:sidesﬂverihﬂ sessions of Rajya

(1) Speaker _
E?'; V[i);:l;’r:sidmu of India

Orasgided ssnIposs J58 66
(1) %6
(3) wdd adogod

150.. The wer gfdctldt]lg a hl“ as I'l'tﬂl"!l:yl:'rﬂ:!‘.;li#; Wllh i :
(1) I:!."i-’"I'u.: Speakerofthe Lok Sabha (2) Presmdl:nt' n.flndlﬂ
(3) Finance Minister = (4) Prime Minister
88 Deod ($Sghesm JFO0D ©EEE0 58 385" dobwol
(1) &'5de m\8d (2) wros cr'gﬁﬂ
(3) ©08 Farsood@ (4) BEs So@

151. President of India addresses his letter of Iﬁsi:g11aliun to ;
(1) The Prime Minister of India 2y Chief Justice of Supreme Court
(3) Vice President of India Wi(4) Speaker of Lok Sabha
I3 TRHA 85 TETAW HFD) <SP0 BS0y0T'd

E'Eé -.- *:1 2 s

(1), 268 Pessos (2) HoboFR P&S Fgesrh
(3) =d8 asoya (4) &'Bdg 0ES

152, Which of the following practice is correct with regard to the appointment of a Governogs
a State

(1) He should be a person from outside the State

(2) Heshould not have more than 60 years of age
(3) Heisappointed by the Chief Minister of the State

(4) He must be in legal profession
L of S50 JoirHe 8 Somofod & ol FoRTaired' I8 TYSS®

(1) & 538 & ords SobSard 58, achd (Foards DolSTd Gomd
(2) = Sg& Sciodgy 60 SoSS )T ws DD Gosots

(3) & o8 Sopgho@ Achbdoardo

(4) ® Sgk Trgahard domods S5BS* sord

153. The Article of the Constitution that provides for the establishment of Union Finang
Commission: |

(1) Article 289 (2) Anticle 360

(3)  Anticle 287 (4) Anicle 280

Crargoriod 2 PESnd widdton Beld 6BE dodo 2ot Bofewdidod
(1) 2895 SEdw (2) 360 % BE5m

(3) 2873 ©sdm (4) 28035 B85
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e }kﬁﬁwﬁa ﬁmuﬁa & Bof o' OB TRIS®
ﬁﬁm Sgor ey SOPDE gox EramTe S0 SAH:
@) w8 w0 ardaIm 65 Ives Birod '
(3) fﬁ# 355‘@311‘ 30@5-6% Lh_m.._:._-_.:-_ﬂl_i,h_-_

(4) ad Hiocdhe Po o
TlletelmNO'D&{Nnne ufﬂw abnve} mp tr

(2} Thc power of the opposition to :gj#tg money bill in Lnk Sabha
(3) The veto power of the Indian President

(4) Governor’s power to reject a Bill

ol (88 69 8 ead) ol oo o

(1) &8 3D weighoosdn 855,608 Lisd ©B5 50

(2) &'5ogs’ (3500 865,808 PESsTe whEdo

(3) =28 oL58 I8 efsdo

(4) =8 Deod 883003 H5HE w80

1 "-6. The statement “Supply creates its own demand” is given by

(1) Thomas Jefferson (2) James Madison R
(3) David Ricardo (4) I1B.Say ;
B0 U0 ASrodod B4 Synosiotnod” 63 BELIH IS0oISIDH :
(1) Tt BRGHE (2) 3Ry 3858
(3) 326 857§ (4) B3H. D
5’? J.M. Keynes propounded the theory of
(1) Liquidity Preference (2) Demand '
- (3) Supply (4) Distribution 3
805, 83 (2aFBodS DIosldn
(1) BSgefced (2) &S0
‘2(3) BESor (4) Soded
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X 158

'mlﬂuwr:ﬂ
al Device
u['a‘l. | AHﬂdB

.i," "H.

ﬂJ A bt B
@) Asrgd

155 Among the following. identify the Di
| = A)  Income Tax and Customs Duty
i C) Corporate Tax and Sales Tax

i. : Pt
| 8 (1) A&C

1= (3) C&D

Bl "

160. Match the following
A) Rabi
B) Kharif
C) Zad
D) Natural Resource
LTS b
A) &8
B) 285
C) 236
D) Biressg

(1) A-iii, B-ii, C-iv, D-i
(3) A-i, B-iii, C-ii, D-iv

38-A

ﬁﬁ:t.'& "’5'&5;1 ot L.JE:'EE wmum : SO 500,
B B) worokh 58 bk 5'63'&5' 5

C) eoys 550y SoBas g;.sa;;gu &a D) wores iy S0 T8 S0k

(2)
(4)

i)
it)
iii)

iv)

1)

i)
fif)
iv)
(2)
(4)

[ncome Tax and Cmpnmt&‘lhar:’
Income Tax and Excise Duties

B only
Aonly

Paddy
Watermelon
Sunshine

Wheat

R gaos

é}ﬁ&?ﬁi&
RrEgsTos

f oo

A-l, B-v, C-1, D-iii
A1y, B-1, C-ii, D-iii




5
‘:I

ll)

Aomd

C) ‘-“"%‘ﬁ"ﬁé m) e

D) wsHdd-o&4 V) e

(1)  A-ii, B-iv, C-iii, D-i (2)  A-iv, B-ii, C-i, D-ii

(3) A-iii, B-iv, C-ii, D-i (4) A-i, B-iii, C-ii, D-iv

162, Assertion(A): Proximity to the marketsisa criteria for the operations of multi na "’3‘ al

corporations. j 3y 3!

Reason (R) : Multi national corporations carry on their operations for securing gmo 5__} t
profits. ' 4

(1) (A)istrue but (R)is false

(2) (A) is false but (R) is true

(3) Both(A)and(R)are trueand (R)is the correct explanation of (A)

(4) Both(A)and (R)are false

BEFES (A): oTvferd Sogos I BSgoTe WTes® 50,8 HbgEks
[ ERgEATmow.

s8=0 (R): BIUYEra Soden BiE grareds Folodsy lp*m‘éau 2 op.

(1) (A)%8sG 578 (R)J8H8 s7eo

(2) (A)Spss 5% &9 (R) 9386

(3) (A)S6c%s (R) w0 Bods SR So80%» (R) wkoss (A) $o $38 2560

(4) ((A) S00%> (R) &2 Dok 333D £°F z
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% q#mmgn (A): Special Economic Zog

164. Expand the abbreviation of ATM
(1) Automated Transaction Machine (2) Automated Teller Machine
(3) Automated Technical Machine (4) Automated Tele Machine
Q.8.9%0 Bd JoR) IBBoYSw
(1) &85 ranss Doas 2) si5*HBs Bed Dad
(3) s&HBE BEHES LS (4) wis*HBsE BO Bas
165. The wealth definition to Economics is given by
(1) Alfred Marshal (2) Lionel Robbins
(3) AdamSmith (4) P.A.Samuelson
efP g S0t Jodd AdgEidSnds NI
(1) sSRE Srds (2) ©oRNIS DY)
(3) wdo 56 (4) 9.9, FSrgeye
166. The first Indian who won the Raman Magsaysay award.
(1) Jayaprakash Narayan (2) VinobhaBhave
(3) ArvindKejrival (4) TN.Sheshan
Tdon B VT WolkEu) IEE rEBoiugs
(1) 2HEST FocsomS (2) dFerend
(3) @8306 SEad (4) 8.98. I5S

Reason(R):  Special Economic ZOnes pro i
local people. '

(1) Both(A)and (R)arefalse |

(2) Both(A)and (R)are truc and (B i‘ the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is trué -

Badas (A): ©dgE ©gs 905%) IV oz, bk wigodoss GFIOTOR.

5 8mo [RJ [:.Ei';aﬁ Egé :ﬁ)u;ﬁ{v : ‘@HH&J Jﬁ]&.;’-‘ Hrh g;ﬁs‘!‘ﬂm .,

(1) (A)ocsn (R)eo Bodr 83y |

(2) (A)S0050 (R) e Bodr S35 Hvagy (R), (A) S 3535 2582

(3) (A)%258 So80s0 (R) 8y |

(4) (A) 83y So0ak (R)F358

- '-:"_:l.-j'll._"_.— A
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¢ gl {' "'f'ﬁk"vl] 4 lJI -I,",".

adﬁﬁm

V) wrdd 826 8ehihs
B}' DI Sepsd ;
C) ITs Goo58 | ; g
D) 35038 8658 'j
(1) A-iii; B-ii, C-i, D-iv (2)
(3) A-iii; B-i, C-iv, D-ii 1_' {)
168. “Man ki Bath” programme started on
(1) 20 Oct 2014 (2)
(3) 26 Jan 2014 - (4
| B8 8 8" SgERED @EodosndS e
(1) 20 e&=6 2014 (2)
(3) 26358 2014 (4)
169. Match the following
a)  Vishwanatha Satvanarayana 1)
b)  SriSri ii)
¢) Gurajada Appa Rao iii)
1 d) C.NarayanaReddy iv)
! 2360 S0:
‘ a) HTE SEgForahew i)
' b) && ii)
c) s eI iii)
d) %. srorcse 34 iv)
(1) a-iv, b-i, c-ii, d-iii (2)
(3) @i, b-iv, -1, d-ii (4)
41-A

y e

[ _." |‘:.“"""
. r"
-du e - '

| a’:.:hﬁ oow”

Fin i |-_.-|-_-.::_ rl

Gl <

|; ||. '-»".4 1[| q”

Bd mvﬂ'

586 Dol SoT*h
A-iiiy B-iv, C-ii, D-i
A-iii; B-i, C-ii, D-1v

15 Aug 2014
3 Oct 2014

15 esrisy 2014
3 o§ab 2014

Veyi padagalu
Vishwambara
Maha Prastanam
Kanya Sulkam

SouSd e

LE oY
é::&*g_;’iégr‘fm
ST ©),C

a-1, b-iii, c-iv, d-ii
a-iil, b-ii, c-i, d-iv

.
o

hhﬁl -



& )5’ o Ammerican Regional G nire BhnbhaAtommResmh Centre
(3) Bombay Atomic Research Centre. Bharath Atomic chmnalfﬁnﬂ#
< DEBoHE0 R
(1) &rers eoES 6u36 BobS  (2) wrwr sbdb 854 wo&b
(3) erod sLb 858 oL ‘ (4) 08 sl b wotd
172. Match the following
a) Kamataka i)  HarishRawat
b) Kerala " ji) SiddaRamaiah
¢) Tripura © iii) Vijayan
d) Uttarakhand iv) Manik sarcar
2E350S0: |
a) sgbs i) %65 odS
b) 3&¢ i) DG ordaaiog
¢) 1©%¢ i) DuoHS
d) &dopod iv) =38 Jonb
(1) a-ii, b-iii, c-iv, d-i (2) a-ii, b-iv, ¢-iil, d-i
(3) a-iii, b-ii, c-i, d-iv (4) a-iii, b-i, c-ii, d-iv

173. The first Radio programme in India started in the year
P 80%0S" 30d8 AR (Broren @EoTRd Sodddo

(1) 1920 2) 1922 (3) 1923 (4) 1933
174. The person who discovered that the earth is spherical in shape
(1] Nm (2) Columbus (3) Plﬂlﬂ‘m}- (4.] Cnpcnﬁcus
" AeEGom $o8d E5HFIS S8
{1} Srgbos (2) Soowd (3) Lrobs (4) §58)85
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wma' aﬁq,&r dsa-;saaua -_
1) =8 2) owpdywo

. Water of this following project is share ‘&
") BhknNagl @) Reod ,,. RamGanga  (4)
& DB DBD 688 $8a8n IFE Bees SoHHoETION

1) wE-sos  (2) broks _”_{3) oS5 fhok () &%

*E’a'” D
Cpets (@) wom

munlﬂes InﬂiaandNUPﬂ_[ '

I‘?E The first president of India who got clected unanimously

(1) Neelam Sanjeeva Reddy (2) BabuRajendra Prasad

(3) Dr.APJ. Abdul Kalam (4) PranabMukharji

68 o gBE BEOE DEhSom J0BS 308 558

(1) Qwo Fﬁn&ﬁﬁg H2) zrew 2o BFE N
(3) APJ wewxd ol (4) Hod Sopd :

179, The election symbol of Samajwadi party in Uttar Pradesh |
(1) Elephant (2) Risingsun {
(3) Clock (4) Cycle
SE5S05S' ShraTd B B, s Do
(1) 255 (2) &donod Jrdgs
(3) né&cirdo (4) W5

'180. The second woman Prime Minister of Britain

(1) Margaret Thatcher (2) Margaret Elizabeth
(3) Theresa May (4) Angela Markel
DLS BOdS Boire (s S0

(1) Srgols pud (2) SrgosS Do=pd
(3) o2y B (4) oz 559,8
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I .,ea,?.. &ﬁmdmr&ﬁ 5 Wbk R 3 ﬂ,{
TN s | pade uons Sy u-arﬂm
v &l ‘_m rﬁ: l.ﬁcra'd:
() @es @ o5 038
() oay @) chace
182. Indicate the wrongly matched pair:
#)  Man of peace +  Lal Bahadur Sastri
b)  Frontier Gandhi ———  Khan Abdul Gaffar khan
€) Desert fox ————  Benito Mussolini
d)  Maidof Orleans " Ipanufhrc
Sy uEIGE oA HBodod:
8) 35 b b5 —-1;"!?‘6 D SrS -l"@
b) @S8a%s med — 95 oS ADEP D
c) a3sf ¥ —— T B2 S0B80R
d) Wonh ed sdoby —3 &' ul ul),
(1) b (2) d (3) ¢ (4) a

183. The Malayalam film that was awarded “The Best Children's Film® at Berlin International
Film Festival 2016 1s

(1) ManuUncle (2) How old Are You?

(3) My Dear Kutti Chetan (4) Onal |
2016 BYS RoLTRWIE H6) VRISS' @dFSh oo Do JoBES Soddrd Do ‘
(1) HR wokod (2) 3" L ol an?

(3) D Aonb g BeS (4) Lud

184, The first woman climbed the Mount Everest in the world.

(1) MmBnchmdmpal (2) Louise Frechette

(3) Mrs. Junko Tabei (4) Maria Estela

B5008" oLTOBBIOM JIBF IO EEEO0S S )
&@03 oS0 @>& (2) oronb @as

QS50 uE' &P (4) Stasr 5o
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| GHotes® va g aBHS0 &
) g (2) HFtersso (3

187. The organisation that was partof Leagueo m ations is still continuing in U‘N’@ 3

(1) WHO (2) UNICEF  (3) UNESCO (4 ILO = T' {
D5TRg DB FIFHES) TTs ﬁéga R, DS ‘ k.
(1) dawgrSe (2) ood> (3) o503, (4) 2.8 l_ ™
-.- 188. The following country is known as “Cockpit of Europe™. | .
(1) Belghim (2) Spain  0(3) Austria (4) France =
TEELS 6P alrdhm HevSutdd) B¥e | '1
l (1) Bgoo (2) ™yows (3) e (4) @) / ;
~ 189. Match the following
| a) Archimedes i)  Britain
' b) Alexander Graham Bell i1) Germany .
3 c) Nicolaus Copernicus iif) Greece 4
’, d) Albert Einstein iv) USA \
| v) Poland i)
| 08 TR 2EDBKNB®:
: a) o) 88 )  1DLS
! b) ©Bmrods [TToBS i) 265
L o) 2FeS EH0)ES iif) (6%
d) @G oShS V) o%0.25.9
V) &Bos |
(1), aviii, brii, c-iv, d-v (2) @i, bei, c-v, d-ii .5
(3) a-iv,b-v, c-ii, d-i (4)  a-iv, b-iii, c-v, d-ij |
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191.

192.

193.

194.

195.

e S

m;:gmmunlyusmj medicine for ty - "}j"'"‘; £s
(1) chloroquine  (2) ascorbicacid 3y ,quiphadrug  (4) chloro
ForSmorr 83rond Dk GG !

(1) go8s (2) eMBOE @) g5 EF o (4) BT WHES
Which dance is performed by Tribal grou :Imginmva]tcy’? B
(1) Dhimsa (2) Gussadi = (3) Kuchipudi ~ (4) BharataNatyan
e ahes® Adas Biod HEgoSd ﬁﬂ‘ﬁ“ He?

(1) &oa (2) amd (3) sr0drd (4) #odardago
The famous Belum Caves are in”?

(1) Gunwr (2) Kumool (3) YS.R.Kadapa (4) Chittoor
Bard Hdo Job Jo?

(1) Hotars (2) H&me (3) YSREs  (4) 2858

The producer of the first talkie movie in TEh;gu‘?

(1) K.V. Reddy (2) Satyajit Ray

(3) HM.Reddy (4) Chittoor Nagayya

SREE Buod rf g JoyE?

(1) KV.3% (2) HH28 B

(3) d.a. 2§ (4) Qs Koy

In Rampa Rebellion who helped Alluri Sita Rama Raju in his fight against the British?

(1) BobbiliDora (2) JampannaDora (3) MannuDora (4) Gantam Dora
1085 B8 a’:;m&gurr- FoTAS vord RET 00N S0 8d3iieriest a8

(1) &80 &¢ (2) =od%) &6 (3) & &6 (4) Hoko &

Sugarcane Research institute is located in Andhra Pradesh?
(1) Kakinada (2) Viayawada  (3) Anakapali  (4) Amudalavalasa
SoPEATSN Bk F0FET Boso?

(1) F‘#ﬂ"i (2) duchad (3) wisso (4) s3uzesen
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199,
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Hu@}@ﬁfﬁ‘a IES 2o s dog -'._=:~:; ‘j_ | ' ("

(1) 83eo 1 2) _;-n'tgﬂéﬁiﬁﬁ 1Y h,r
(3) &8s (@) Seswob E
The newspaper established by Raghupai‘]iimam Ratnam Naidu was? i

(1) Brahma Prakasika - (2) Swarajyam

(3) Vivekayardhini (4) Vandematharam

S008 Bosbddo Totudod %haﬁ&;-ﬁ@ﬁ

(1) (oo o 3E P (2) Mo g0

(3) o3¢ 599 (4) Sodsrédo

The first mscriptions which were found in Andhra Pradesh?

(1) 'RakasiGullu @) Nasik 1 '
(3) Asoka’s (4) Hathi Gumpha

soTre* ©dods &9 TIT ID?

(1) o8 e 2) a5§

(3) w0 (4) ST*8K0d

In 1862 the F;rst Railway line that was constructed in Andhra?

(1) Bombay to Tanuku (2) Kondapalli to Korukonda

(3) Kotipalli-Kakinada (4) Putturuto Renigunta
so@s* 1862 & Sahnds Snde 38 85 FIN?

(2) 5o - S'sEoy
(4) YEND - Tedhods
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